

UPPER MINUS DOMINATION NUMBER IN  
K-REGULAR GRAPHS

Hongtao Zhao<sup>1</sup>, Xinzhong Lu<sup>2</sup>§

<sup>1,2</sup>Department of Mathematics  
Zhejiang Normal University  
Jinhua, 321004, P.R. CHINA

<sup>2</sup>e-mail: luxinzhong@zjnu.cn

**Abstract:** Let  $G = (V, E)$  be a graph. A function  $f : V(G) \rightarrow \{-1, 0, 1\}$  defined on the the vertices of  $G$  is a minus domination function, if the sum of its function values over any closed neighborhood is at least one. The weight of a minus domination function is  $\omega(f) = f(V) = \sum_{v \in V} f(v)$ . The upper minus domination number of a graph  $G$ , denoted  $\Gamma^-(G)$ , equals the maximum weight of all the minimal minus domination functions of  $G$ .

**AMS Subject Classification:** 26A33

**Key Words:** minus domination, minus domination number, k-regular graph

1. Introduction

In this paper all graphs under consideration are undirected, finite and simple. A graph, denoted by  $G = (V, E)$ , consists of a non-empty set  $V$  of vertices, and a set  $E$  of edges. The order of  $G$  is  $n = |V|$ . For a vertex  $v \in V$ , the open neighborhood of  $v$  is  $\{N(v) = \{u \in V | uv \in E\}$ , and the closed neighborhood of  $v$  is  $N[v] = N(v) \cup v$ . The degree of  $v$  in  $G$  is denoted by  $d(v)$ , a graph  $G$  is called k-regular if  $\forall v \in V, d(v) = k$ .

For a subset  $S \subseteq V$ , we use  $d_S(v)$  to denote the number of vertices in  $S$  that are adjacent to  $v$ . For disjoint subsets  $U$  and  $W$  of vertices, we let  $e(U, W)$  to denote the number of edges between  $U$  and  $W$ .

---

Received: October 25, 2010

© 2010 Academic Publications

§Correspondence author

Let  $f : V \rightarrow \{-1, 0, 1\}$  be a function which assigns to each vertex of  $G$  an element in the set  $\{-1, 0, 1\}$ , then  $f$  is called a minus domination function of  $G$ , if  $f(N[v]) = \sum_{u \in N[v]} f(u) \geq 1$  for every  $v \in V$ . A minus domination function  $f$  is minimal if every minus domination function  $g$  satisfying  $g(v) \leq f(v)$  for every  $v \in V$ , is equal to  $f$ . The minus domination number of a graph  $G$ , denoted by  $\gamma^-(G)$  is the minimum weight of a minus dominating function of  $G$ . The upper minus domination number of a graph  $G$ , denoted by  $\Gamma^-(G)$  equals the maximum weight of all the minimal minus domination functions of  $G$ . That is

$$\gamma^-(G) = \min\{\omega(f) \mid f \text{ is a minus domination function on } G\},$$

$$\Gamma^-(G) = \max\{\omega(f) \mid f \text{ is a minimal minus domination function on } G\}.$$

The weight of  $f$  on a graph  $G = (V, E)$  is  $\omega(f) = \sum_{v \in V} f(v)$ , and for  $S \subseteq V$ , we define  $f(S) = \sum_{v \in S} f(v)$ , so  $\omega(f) = f(V)$ . For a vertex  $v \in V$ , we denote:  $f(N[v])$  by  $f[v]$  for notational convenience. We call a minimal minus domination function of weight  $\Gamma^-(G)$  a  $\Gamma^-(G)$ -function.

Let  $P, Q$  and  $M$  denote the sets of those vertices in  $G$ , which are assigned under  $f$  the value 1, 0, -1, that is;

$$\begin{aligned} P &= \{v \in V \mid f(v) = 1\}, \\ Q &= \{v \in V \mid f(v) = 0\}, \\ M &= \{v \in V \mid f(v) = -1\}. \end{aligned}$$

Let  $|P| = p$ ,  $|Q| = q$ ,  $|M| = m$ . Thus  $n = p + q + m$ ,  $\omega(f) = |P| - |M| = n - q - 2m$ .

Further we define:

$$\begin{aligned} P_{ij} &= \{v \in P \mid d_Q(v) = i, d_M(v) = j\}, \\ Q_{ij} &= \{v \in Q \mid d_P(v) = i, d_M(v) = j\}, \\ M_{ij} &= \{v \in M \mid d_P(v) = i, d_Q(v) = j\}. \end{aligned}$$

Liyang Kang et al [3] proved that if  $G$  is a cubic graph of order  $n$ , then  $\Gamma^-(G) \leq \frac{5}{8}n$ . Hong Yan et al [2] proved the upper bounds on the upper minus total domination number of 3 and 4 regular graph. Many results on minus domination or signed domination or total domination in graphs have been presented by various authors [4], [6], [2], [7]. Based on these results, in this paper, we discuss the domination number of  $k$ -regular graph.

**Lemma 1.** (see [1]) *A minus domination function on a graph  $G = (V, E)$  is minimal if and only if for every vertex  $v \in V$  with  $f(v) \geq 0$ , there exists  $u \in N[v]$ , such that  $f[u] = 1$ .*

**2. Main Result**

**Theorem 2.** *If  $G$  is a  $k$ -regular graph of order  $n$ , then*

$$\Gamma^-(G) \leq \frac{2k-1}{2(k+1)}n.$$

*Proof.* Let  $f$  be a  $\Gamma^-(G)$ -function. Then  $\Gamma^-(G) = |P| - |M| = p - m$ . Hence we can partition  $P, Q$  and  $M$  into the following sets, respectively.

$$P_{ij} = \{v \in P \mid d_Q(v) = i, d_M(v) = j, \text{ where } 0 \leq j \leq \lfloor \frac{k}{2} \rfloor, 0 \leq i \leq k - 2j\},$$

$$Q_{ij} = \{v \in Q \mid d_P(v) = i, d_M(v) = j, \text{ where } 0 \leq j \leq \lfloor \frac{k}{2} \rfloor, j + 1 \leq i \leq k - j\},$$

$$M_{ij}$$

$$= \{v \in M \mid d_P(v) = i, d_Q(v) = j, \text{ where } 0 \leq j \leq \lceil \frac{k}{2} \rceil, \lfloor \frac{k-j}{2} \rfloor \leq i \leq k - j\}.$$

Let  $|P_{ij}| = p_{ij}, |Q_{ij}| = q_{ij}, |M_{ij}| = m_{ij}$ . Further, we write

$$P' = \bigcup_{k-2j-i=0} P_{ij}, Q' = \bigcup_{i-j=1} Q_{ij}, M' = \bigcup_{2i+j-k=2} M_{ij}.$$

Clearly,  $\forall v \in P' \cup Q' \cup M', f[v] = 1$ , while  $\forall v \in V - (P' \cup Q' \cup M'), f[v] \geq 2$ . By counting the edge number, we can immediately get the following equalities:

$$\begin{aligned} \sum j q_{ij} &= e(Q, M) = \sum j m_{ij}, \\ \sum j p_{ij} &= e(P, M) = \sum i m_{ij} = km - \sum (k - i) m_{ij}, \\ \sum i p_{ij} &= e(P, Q) = \sum i q_{ij} = kq - \sum (k - i) q_{ij}. \end{aligned}$$

By Lemma 1, for every vertex  $v \in P - P'$ , there exists a vertex  $u \in N[v]$  such that  $f[u] = 1$ . It follows that for every vertex  $v \in P - P'$ , there must exist a neighbor  $v'$  of  $v$  that belongs to  $P' \cup Q' \cup M'$ . So we can get

$$\begin{aligned} \sum_{k-2j-i \neq 0} p_{ij} &\leq e(P - P', P' \cup Q' \cup M') \\ &= e(P - P', P') + e(P - P', Q' \cup M'), \end{aligned}$$

$\forall v \in P_{ij} \subset P'$ . There exists a neighbor  $v'$  of  $v$  satisfying  $f[v'] = 1$ , that is  $v' \in P' \cup Q' \cup M'$ . If  $v' \in P'$  then  $v$  is adjacent to at most  $k - i - j$  vertices of  $P - P'$ . If  $v' \in Q' \cup M'$  then  $v$  is adjacent to at most  $k - i - j$  vertices of  $P - P'$ . Hence, we can write  $P_{ij}$  as the disjoint union of two sets

$$P'_{ij} = \{v \in P_{ij} \mid d_{P-P'}(v) = k - i - j\} \text{ and } P''_{ij} = P_{ij} - P'_{ij}.$$

Let  $|P'_{ij}| = p_{ij}$ , and so  $|P''_{ij}| = p_{ij} - p'_{ij}$ . Since each vertex  $v \in P'_{ij}$  is adjacent to at least one vertex of  $Q' \cup M'$ , it follows that

$$p'_{ij} \leq e(P'_{ij}, Q' \cup M'),$$

then

$$\begin{aligned} e(P - P', P') &= e(P - P', \bigcup_{k-2j-i=0} P_{ij}) \\ &= e(P - P', \bigcup_{k-2j-i=0} P'_{ij}) + e(P - P', \bigcup_{k-2j-i=0} P''_{ij}) \\ &= \sum_{k-2j-i=0} (k - j - i)p'_{ij} + \sum_{k-2j-i=0} (k - j - i - 1)p''_{ij} \\ &\leq \sum_{k-2j-i=0} (k - j - i - 1)p_{ij} + \sum_{k-2j-i=0} e(P'_{ij}, Q' \cup M') \\ &\leq \sum_{k-2j-i=0} (j - 1)p_{ij} + \sum_{k-2j-i=0} e(P'_{ij}, Q' \cup M'). \end{aligned}$$

So we have

$$\begin{aligned} &\sum_{k-2j-i \neq 0} p_{ij} \\ &\leq \sum_{k-2j-i=0} (j - 1)p_{ij} + \sum_{k-2j-i=0} e(P'_{ij}, Q' \cup M') + e(P - P', Q' \cup M') \\ &= \sum_{k-2j-i=0} (j - 1)p_{ij} + e(\bigcup_{k-2j-i=0} P'_{ij} \cup (P - P'), Q' \cup M') \\ &= \sum_{k-2j-i=0} (j - 1)p_{ij} + \sum_{i-j=1} iq_{ij} + \sum_{2i+j-k=2} im_{ij}. \end{aligned}$$

Using the above equalities and inequalities, we immediately get

$$\begin{aligned} n &= (q + m) + p = (q + m) + \sum p_{ij} \\ &= (q + m) + \sum_{k-2j-i \neq 0} p_{ij} + \sum_{k-2j-i=0} p_{ij} \\ &= (q + m) + \sum_{k-2j-i=0} jp_{ij} + \sum_{i-j=1} iq_{ij} + \sum_{2i+j-k=2} im_{ij} - (k - 1)p_{k0} \\ &= (q + m) + km - \sum (k - i)m_{ij} + kq - \sum (k - i)q_{ij} - (k - 1)p_{k0} \\ &\leq (k + 1)(q + m) - [\sum (k - i)m_{ij} + \sum (k - i)q_{ij}] - (k - 1)p_{k0}. \end{aligned}$$

We obtain

$$q + m \geq \frac{1}{k+1}n + \frac{1}{k+1}[\sum (k-i)m_{ij} + \sum (k-i)q_{ij} + (k-1)p_{k0}].$$

So

$$\begin{aligned} p &= n - (q + m) \\ &\leq \frac{k}{k+1}n - \frac{1}{k+1}[\sum (k-i)m_{ij} + \sum (k-i)q_{ij} + (k-1)p_{k0}] \\ &= \leq \frac{k}{k+1}n - \frac{1}{k+1}a, \end{aligned}$$

where  $a = \sum (k-i)m_{ij} + \sum (k-i)q_{ij} + (k-1)p_{k0}$ .

On the other hand, we can get

$$\begin{aligned} p &= \sum_{k-2j-i \neq 0} p_{ij} + \sum_{k-2j-i=0} p_{ij} \\ &\leq \sum_{k-2j-i=0} (j-1)p_{ij} + \sum_{k-2j-i=0} p_{ij} + \sum_{i-j=1} iq_{ij} + \sum_{2i+j-k=2} im_{ij} \\ &= \sum_{k-2j-i=0} jp_{ij} + \sum_{i-j=1} iq_{ij} + \sum_{2i+j-k=2} im_{ij} + p_{k0} \\ &\leq km - \sum (k-i)m_{ij} + \sum_{2i+j-k=2} im_{ij} + \sum_{i-j=1} iq_{ij} + p_{k0}. \end{aligned}$$

As

$$\begin{aligned} \sum jq_{ij} &= \sum jm_{ij} \\ &= \sum_{i-j=1} jq_{ij} + \sum_{i-j \neq 1} jq_{ij} \\ &= \sum_{i-j=1} q_{ij} + \sum jq_{ij} - \sum_{i-j \neq 1} jq_{ij}, \\ \sum (k-i)m_{ij} - \sum_{2i+j-k=2} im_{ij} &= \sum_{2i+j-k \neq 2} m_{ij} + \sum_{2i+j-k=2} (k-i)m_{ij} - \sum_{2i+j-k=2} im_{ij} \\ &= \sum_{2i+j-k \neq 2} (k-i)m_{ij} + \sum_{2i+j-k=2} m_{ij}. \end{aligned}$$

Thus

$$\begin{aligned} p &\leq km - \sum_{2i+j-k=2} (k-2i)m_{ij} - \sum_{2i+j-k \neq 0} (k-i)m_{ij} + p_{k0} + \sum_{i-j=1} q_{ij} + \sum jq_{ij} \\ - \sum_{i-j \neq 1} jq_{ij} &= km - \sum_{2i+j-k=2} (k-2i)m_{ij} - \sum_{2i+j-k \neq 2} (k-i)m_{ij} + p_{k0} + \sum jm_{ij} \end{aligned}$$

$$\begin{aligned}
& - \sum_{i-j \neq 1} jq_{ij} + \sum_{i-j=1} q_{ij} = km - \sum_{2i+j-k=2} (k-i)m_{ij} - \sum_{2i+j-k \neq 2} km_{ij} + p_{k0} \\
& \quad + \sum (j+i)m_{ij} - \sum_{i-j \neq 1} jq_{ij} + \sum_{i-j=1} q_{ij} \\
& \leq 2km - \left[ \sum_{2i+j-k=2} (k-i)m_{ij} + \sum_{2i+j-k \neq 2} km_{ij} + \sum_{i-j \neq 1} jq_{ij} - \sum_{i-j=1} q_{ij} - p_{k0} \right],
\end{aligned}$$

which implies

$$\begin{aligned}
m & \geq \frac{1}{2k}p + \frac{1}{2k} \left[ \sum_{2i+j-k=2} (k-i)m_{ij} + \sum_{2i+j-k \neq 2} km_{ij} + \sum_{i-j \neq 1} jq_{ij} - \sum_{i-j=1} q_{ij} - p_{k0} \right] \\
& \geq \frac{1}{2k}p + \frac{1}{2k}b,
\end{aligned}$$

where

$$b = \sum_{2i+j-k=2} (k-i)m_{ij} + \sum_{2i+j-k \neq 2} km_{ij} + \sum_{i-j \neq 1} jq_{ij} - \sum_{i-j=1} q_{ij} - p_{k0}.$$

Therefore

$$\begin{aligned}
& \Gamma^-(G) = p - m \\
& \leq \frac{2k-1}{2k}p - \frac{1}{2k} \left[ \sum_{2i+j-k=2} (k-i)m_{ij} + \sum_{2i+j-k \neq 2} km_{ij} + \sum_{i-j \neq 1} jq_{ij} - \sum_{i-j=1} q_{ij} - p_{k0} \right] \\
& \leq \frac{2k-1}{2k} \left\{ \frac{k}{k+1}n - \frac{1}{k+1}a - \frac{1}{2k}b \right\} \\
& = \frac{2k-1}{2(k+1)}n - \frac{2k-1}{2k(k+1)}a - \frac{1}{2k}b = \frac{2k-1}{2(k+1)}n - \frac{1}{2k(k+1)}[(2k-1)a + (k+1)b].
\end{aligned}$$

As

$$\begin{aligned}
(2k-1)a + (k+1)b & = (2k-1) \sum (k-i)m_{ij} \\
& + (2k-1) \sum (k-i)q_{ij} + (2k-1)(k-1)p_{k0} + (k+1) \sum_{2i+j-k=2} (k-i)m_{ij} \\
& + (k+1) \sum_{2i+j-k \neq 2} km_{ij} + (k+1) \sum_{i-j \neq 1} jq_{ij} - \sum_{i-j=1} q_{ij} - (k+1)p_{k0} \\
& = (2k-1) \sum (k-i)m_{ij} + (2k-1) \sum (k-i)q_{ij} + 2k(k-1)p_{k0} + (k+1) \sum (k-i)m_{ij} \\
& \quad + (k+1) \sum_{2i+j-k \neq 2} im_{ij} + (k+1) \sum_{i-j \neq 1} jq_{ij} - \sum_{i-j=1} q_{ij} \\
& = 3k \sum (k-i)m_{ij} + (k+1) \sum_{2i+j-k \neq 2} im_{ij}
\end{aligned}$$

$$+ (2k-1) \sum (k-i-1)q_{ij} + (2k-1) \sum_{i-j \neq 1} q_{ij} + (k+1) \sum_{i-j \neq 1} jq_{ij} + 2k(k-1)p_{k0} \geq 0.$$

Therefore

$$\Gamma^-(G) \leq \frac{2k-1}{2(k-1)}n. \quad \square$$

### Acknowledgments

This work is supported by National Nature Science Foundation of China 10771197 and National Nature Science Foundation of China 10971198.

We would like to thank the referees and wish to thank their helpful comments and insight.

### References

- [1] Jean Dunbar, Stephen Hedetniemi, Michael A. Henning, Alice McRae, Minus domination in graphs, *Discrete Math.*, **199** (1999), 35-47.
- [2] Michael A. Henning, Signed total domination in graphs, *Discrete Math.*, **278** (2004), 109-125.
- [3] Liying Kang, Maocheng Cai, Minus domination number in cubic graph, *Chinese Science Bulletin*, **43**, No. 6 (1998), 444-447.
- [4] Chunxiang Wang, Jingzhong Mao, Note some more remarks on domination in cubic graphs, *Discrete Math.*, **237** (2001), 193-197.
- [5] Hong Yan, Xiaoqi Yang, Erfang Shan, Upper minus total domination in small-degree regular graphs, *Discrete Math.*, **307** (2007), 2453-2463.
- [6] Bohdan Zalinka, Some remarks on domination in cubic graphs, *Discrete Math.*, **158** (1996), 149-155.
- [7] Zhongfu Zhang, Baogen Xu, Yinzhen Li, Linzhong Liu, A note on the lower bounds of signed domination number of a graph, *Discrete Math.*, **195** (1999), 295-298.

